Quiz #7 Math 290
6/121

Show all your work clearly. No Work, No Credit.

1. Solve the following DE: (10 pts)
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2. Determine the general solution to the following DE: (10 pts)
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3. Determine the motion of the spring — mass system governed by the given initial — value problem. State
whether the motion is underdamped, critically damped or over damped. Then determine the first time it

dy

passes the equilibrium position: y'+4y'+7y=0,y(0)=2; y —(0)=6 (5pts)
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Use Laplace Transform to solve: y"+3y'+2y =12t*; y(0)=0, »'(0)=1 (5 pts)
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5. Using Eigenvalues/Eigenvectors to solve: (20 pts)
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